N o RUKLY) S02
7 | 0 3/ 5 W o7 — — NOx

AL K IR T 2 P P BRI e - Sl | ik i gt | o, | | o | TPR
mg/Nm’ | mg/Nm® | BRAE | AR mg/Nm’ /Nm® {H R - 8 T bRHERRAE) ] - 2 R RENENE

Eg“ 410 wahr |ielimiiE ] 2.59 | 4.03 10 | & 7g91m r1115 o;ﬂ 35 5 SR ETET) L
1L S| e 3,10 | 4.39 | 10 | & s Tiioe T a5 | & 24.55 158.22 | 50 | @ 12.39 [11.30 [49.51 [8.60 [i2k] K%
fE2k alo| #ypr [iafeiispEd] 3.18 [ 4.89 | 10 | 7 3.93 | 6.05 3 = 29.10 AL 17 20 i 13.05 |10.40 {50.65 | 9.18 |4kl K
1E4k 413 wahr |Ielimii ] 2.95 | 4.29 10 | & 10,66 | 15. 44 35 = e T 2 o 313 L1126 150.99 19. 18 EAR U
ik 4] 4| wl [1emimpEEpEh 0] 3.02 | 449 | 10 [ 7§ 6.80_| 10.10 35 PE e i 12.82 110.66 ]50.20 | 7.92 |iESBE] N
1E2k al 5| wyr [spigipimwdio] 2.82 | 4.31 | 10 | 7 5.55 | 8.38 35 = 2L.70 132,91 1 90 i 12.67 110.90 149.82 | 8.38 |ik%k) K’
FEER 41 6| @h 1glisnisiiE ] 3.10 | 4.54 10 | 5 1?; 08 1é 13 35 = T 2 2 1281 1L 1T A9.16 15,97 (AR C
14k 417 Bahr (IR ] 3.34 | 4.84 10 | & 9.14 [13.22 35 i TR EET 2 o L3. L 110,75 150.26 15,65 L HAR L
1E2k 418 et |1#limRiEE 1] 3.47 | 5.17 10 | 1 6.56 | 9.75 35 = T 2 o 13.06 110.63 150.59 1910 LAk C
FEER 41 9| ®adr [1gsiEsE ) 3.37 | 4.85 10 | & 1?; 71 [ 1941 35 = TRTRETN 2 2 12.91 110.91 150.97 19,03 LAk C
1E4k 4110 wahr |iefesiEs ] 3.56 | 4.78 10 | 1 12.89 [17.32 35 = TRLRETE 2 o 12.86 110.55 150.29 1 5.89 HAR L
1E2k 4 11| By elimnisiE e ] 3.23 | 4.34 10 | 7% 11.65 15‘ 60 35 = OXURVERT 2 o 13.01 19.50 15176 19.56 HAR L
W N R T EEE G T 1L05 1 1500 35 i 32.02 [43.00 50 = 13.11 | 9.83 [52.18 | 9.94 [#g:| K
T N T e R G T 1097 12020 35 i 30.20 [39.89 50 = 13.10 | 9.63 [52.50 |10.19 [#4:| K
1E2k 41 14] wadhr [IleRESE L ) 3.87 | 4.99 10 | & 17.91 [23.12 35 & TR TRETRT: 2 2 1311 1993 152.69 110,26 LAkl C
1EZE 41165 fahr | I#limRi ] 3.72 | 4.78 10 | 7/ 14.90 | 19. 10 35 = T 2 o 13.01 19,98 152, 74 110.95 (HAR L
{EEk 4116 fahr | 1#limi i E s 1] 3.60 | 5.00 10 | 75 5.00 | 6.85 35 & T 2 2 13.06 19092 152,41 9.2 Akl IC
W T e e i T oo T 2001 0.69 35 i 27.05 [37.50 50 = 12.78 110.18 [51.49 | 9.23 [#4:| K
e al18] ekt [afiamesE]3.95 | 508 | 10 | 7 21.72 | 27.78 35 = 28.00 139, 59 20 i 12.92 110.09 150.97 | 9.05 |iEAE] X'
T Tl B e o o T LT 21T 35 h 29.86 [38.46 50 = 13.13 | 9.33 [52.24 |10.04 [##&:| K
FEER 4 120 @h |1glimismiE s ] 3.92 | 5.59 10 | 5 1i 36 15; 74 35 = T 2 2 1314 110.01 151.93 110.09 LHEARL U
1E2k 4121 ‘b [IRGRESE I ) 4.14 | 5.48 10 | & 16.95 [22.33 35 = T 2 o L3. 14 110,45 15181 110.00 {HAR L
1% 4 22 W [almiiEt ] 4.6 | 6.02 | 10 | @& 1144 | 15.65 35 PE e 13.36 | 9.65 152.13 |10.10 |iE%E) K7
FEER 4 (23] @y |1glimismiE s ] 3.72 | 5.60 10 | 7% 6‘79 9.89 35 = RTRETE] 2 2 13.28 110. 1L 152.00 110,12 LRAkL C
1E4k 410 wahr |o#limii 1] 3.75 | 4.97 10 | & 14,04 | 18, 49 35 = T Torae 2 o 13.02 L11.02 150.99 19.68 LEAR IV
W SN R T R ER T PRTRBTST, 35 h 20.74 |27.36 50 & 12.88 [ 9.67 |51.55 | 9.48 |i%z:| KX
1E2k 41 o | wah |oslimnEs | 3.48 | 4.45 10 | 17 9.9 |12.77 35 = T 2 2 13.10 1 9.5 151.20 19.22 ARl IC
i 23| wd [eeliGls e 1] 3.33 | 4.30 | 10 | & TR AT i R 13.54 1 9.97 (9176 1 9.54 [ Ak )X
{E8% alal mal [oaflimptmnitii] 3.63 | 471 | 10 | 7 7.36 | 9.55 35 = 23. TT_150. 68 20 i 13.31 19.38 [51.56 | 9.54 [iEAk] K
1E2k 415 @y |oglimismiE ] 3.81 | 4.95 10 | 7% 9. 05 1i 76 35 = T 2 2 13.19 1 9,41 151.52 19,53 Ak C
1EEk 4161 ‘b (2B HE HL ) 3.92 | 5.06 10 | & 14,21 [18.33 35 = TR 2 o 1394 19.46 15162 19.60 [EAR IV
1E4k 41 7| b (2R B L ) 3.92 | 5.03 10 | 7% 9.21 11.81 35 = T 2 2 13.61 1 9.95 151.60 .9.60 LAk
1E4k 418 Habr |oslimiiiEti ] 3.95 [ 5.26 10 | & 13.41 | 17,80 35 i T = Z 13.99 19.90 15174 19.63 (HAR IV
1E4k 419 wabhr |o#limii ] 4.04 | 5.16 10 | & 14.06 [ 17.96 35 = o T 2 2 12.58 1 9.72 151.96 19,16 LHARL
ik 4|10] #k [osmimpEEti O] 3.98 | 4.90 | 10 [ 75 12.51 | 15.41 35 PE T — i 13.23 190.26 |51.76 | 9.42 |iE%E] N
FEER 4 11| By |eslimiismiE ] 3.38 | 4.17 10 | 7% 14‘ 49 17‘ 84 35 = T8 2 o 13.50 1 8.80 (5.5 19.23 ARl ICH
1E4k 41 12] ‘ahr (2l HY 1) 3.47 | 4.30 10 | 75 12.07 [14.95 35 = T 2 2 L3.7L 1 8.81 152.50 19,70 Akl C
ik 4|13 #k [osfimpEE At O] 3.55 | 4.40 | 10 | 75 8.87 | 10.99 35 PE e e R i 13.65 | 8.89 152.50 | 9.96 |iE%k] N
FEER 4 (14| By |oglimiisiE ] 3.83 | 4.75 10 | 5 14 64 18‘ 19 35 & T 2 2 13.50 1 8.90 152.47 1 9.99 LHAkLC
1EEk 4 115] ‘b (2R B HY 1) 3.57 | 4.45 10 | & 12.71 [15.83 35 = T 2 o 1344 15.93 15262 110.13 (EAR U
s al16] Wiy [osmimiBbiE o] 3.61 | 4.64 | 10 | 7 12.09 | 15.55 35 PE 22.8) 128,42 | o0 i 13.37 | 8.95 162.50 ]10. 11 iESE] NG
1E2k 4 117] Badr (2R S H ) 4.26 | 5.44 10 | & 14.08 [17.97 35 & T 2 2 12.96 1 9.50 152.40 11025 LHEAkLC
1E4k 4118 fahr |o#limi i 1] 4.53 | 5.68 10 | & 17.49 | 21,92 35 = o T 2 o 1322 19.27 152,97 110.13 (HAR IV
1E4k 4 119] #adp |oslim i E 1] 4.55 [ 5.79 10 | & 18.88 | 24. 07 35 = TRTREIRE 2 o 13.59 19.03 15259 110.98 (EAR L
1E2k 4120] ‘b (2R ESIE HL ) 4.89 | 6. 21 10 | & 16.23 [ 20.60 35 & T 2 2 13.61 1923 152.61 110,47 LHEARLC
1E2k 4121wk |osliaiEsas ] 5.04 | 6.24 10 | 17 17.72 [ 21.95 35 = T 2 2 13.57 1 9.19 152.60 110,47 LiEAkL C
(L2 4102 gy [osfimibspiEdtii] 4.85 | 6.03 | 10 | 7§ 1.25 | 5.28 32 = 20. 57 152, 90 20 i 13.71 |8.89 [53.12 [10.49 [iEAk] K
1E2k 4123] k(2R HE HL ) 4.80 | 6.05 10 | & 8.19 110.32 35 = TR 2 o 3. 74 1 5.91 152,98 19.63 [HAR IV
: : i 24.41 130.75 50 5 13.51 [9.09 |52.90 |10.12 |34z K<




